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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. “Agricultural and Industrialization are complementary 

of each-other.” Discuss this statement and clarify the 

mutual-relationship between agriculture and industry. 

ßd`f”k ,oa m|ksx dqN va’kksa rd ,d&nwljs ds iwjd gSAÞ bl 

dFku dh foospuk dhft, rFkk d`f”k ,oa m|ksx ds chp 

vUrlZEcU/k dks Li”V dhft,A 

2. Discuss the law of diminishing returns. How does this 

law work in agriculture filed ? 

mRifŸk kl fu;e dh foospuk dhft,A ;g fu;e d`f”k {ks= 

esa fdl rjg dk;Z djrk gS \ 

3. “Indian has a need of second green revolution.” 

Express your views with reference to this statement. 

ßHkkjr dks nwljh gfjr ØkfUr dh vko’;drk gSAÞ bl dFku 

ds lUnHkZ esa vius fopkj O;Dr dhft,A 

4. What do you mean by Sub-division and Fragmentation 

of Holdings ? Discuss the causes and effects of sub-

division and fragmentation. Give suggestions to 

remove this evil. 

d`f”k tksrksa dk mi&foHkktu rFkk vi[k.Mu ls vki D;k 

le>rs gSa \ tksrksa ds mi&foHkktu rFkk vi[k.Mu ds dkj.k 

vkSj izHkko crkb;sA bl cqjkbZ dks nwj djus ds fy, lq>ko 

nhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by agriculture economics ? 

d`f”k vFkZ’kkL= ls vki D;k le>rs gSa \ 

2. Measures of removal of agriculture Indebtedness. 

d`f”k _.kxzLrrk dks nwj djus ds mik;A 

3. Explain the role of Agricultural marketing in 

Economic Development. 

vkfFkZd fodkl esa d`f”k foi.ku dh Hkwfedk Li”V dhft,A 

4. Role of NABARD in agricultural finance. 

d`f”k for esa ukckMZ dh HkwfedkA 

5. Role of Irrigation in agricultural development. 

d`f”k fodkl esa flapkbZ dh HkwfedkA 

6. Explain the comparative time theory of farm 

management. 

QkeZ izcU/k ds rqyukRed le; fl)kUr dh O;k[;k  

dhft,A 
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7. What do you understand by agriculture price policy ? 

d`f”k ewY; uhfr ls vki D;k le>rs gSa \ 

8. What are the challenges before Indian agriculture in 

WTO ? 

fo’o O;kikj laxBu ds lUnHkZ esa Hkkjrh; d`f”k ds le{k D;k 

pqukSfr;k¡ gSa \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following are True or False. 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR;A 

1. Agricultural economics is the branch of general 

economics. 

d`f”k vFkZ’kkL= lkekU; vFkZ’kkL= dh ‘kk[kk gSA 

2. Law of diminishing returns in agriculture apply to  

late. 

d`f”k esa mRifŸk kl fu;e nsj ls ykxw gksrk gSA 

3. NABARD provides loans directly to farmers. 

ukckMZ fdlkuksa dks lh/ks _.k iznku djrk gSA 
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4. Agricultural prices automatically stabilize. 

d`f”k dhersa Lor% gh fLFkj gks tkrh gSaA 

5. Land Development Bank provides short-term loans. 

Hkwfe fodkl cSad vYidkyhu _.k iznku djrk gSA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

6. Which of the following is not the crop of Kharif ? 

(a) Potato 

(b) Cotton 

(c) Sugarcane 

(d) Wheat 

fuEu esa ls dkSu [kjhQ dh Qly ugha gS \ 

¼v½ vkyw 

¼c½ dikl 

¼l½ xUuk 

¼n½ xsgw¡ 

7. What is NABARD ? 

(a) A bank 

(b) A committee 

(c) A board 

(d) A co-operative department 

ukckMZ D;k gS \ 

¼v½ ,d cSad 

¼c½ ,d lfefr 

¼l½ ,d cksMZ 

¼n½ ,d lgdkjh foHkkx 
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8. Agmark is : 

(a) Guarantee of certain purity of agricultural matter 

(b) Guarantee for sale of agricultural commodities 

(c) Guarantee of price of agricultural commodities 

(d) All of the above 

,xekdZ gksrk gS % 

¼v½ d`f”k inkFkks± dh fuf’pr ‘kq)rk dh xkjUVh 

¼c½ d`f”k inkFkks± dh fcØh dh xkjUVh 

¼l½ d`f”k inkFkks± dh dher dh xkjUVh 

¼n½ mi;qZDr lHkh 

9. There a profit from agricultural pricing stabilization  

to : 

(a) Government 

(b) Consumers 

(c) All of the above 

(d) Farmers 

d`f”k dher fLFkjhdj.k ls fdldks ykHk gksrk gS \ 

¼v½ ljdkj 

¼c½ miHkksDrk 

¼l½ mi;qZDr lHkh dks 

¼n½ fdlkuksa 

10. Who run the Bhudan movement ? 

(a) Mahatma Gandhi 
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(b) Acharya Vinoba Bhave 

(c) Lal Bahadur Shastri 

(d) Pt. Jawahar Lal Nehru 

Hkw&nku vkUnksyu fdlus pyk;k \ 

¼v½ egkRek xka/kh 

¼c½ vkpk;Z fouksck Hkkos 

¼l½ yky cgknqj ‘kkL=h 

¼n½ ia- tokgj yky usg: 
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